= A
N = 0] &F AF S & AN A
20148 = 20 A LEHSH sAHXI & D
A s&XE Y
HE: 59 B L
ol MRS SY CER-ED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
= AKX St 108,634,131 104,302,079 4,332,052
= 68,884,607
2 12,285,000
J| 3,732,669
= 23,731,855
s 3¥E LG 108,579,111 104,242,418 4,336,693
= 68,884,607
2 12,285,000
J| 3,732,669
= 23,676,835
AAHNSSH 52,814,037 53,202,992 A\ 388,955
= 43,796,790
J| 612,669
= 8,404,578
MNASEEBNMEEMH AL 35,792,510 33,000,000 2,792,510
= 35,792,510
308 XX SHHSOIH 35,792,510 33,000,000 2,792,510
= 35,792,510
01 AIXSHMENMNEX= 35,792,510 33,000,000 2,792,510
OMASEEIAEMN ALY 35,792,510
= 35,792,510
MASEMEIEH ALY 22/ H| 312,669 325,000 N 12,331
J| 312,669
202 044l 10,000 10,000 0
J| 10,000
01 2Ll 10,000 10,000 0
OMASBEINEN SXXE 10,000
J| 10,000
308 MXISHMSOIA 302,669 315,000 N 12,331
J| 302,669
01 IXHHINMNEXTZ 302,669 315,000 N 12,331
OMASEXINEM AFE 22| 302,669
J| 302,669
THEZIXNSEAZH AL 3,010,000 3,182,000 A 172,000
= 2,800,000
= 210,000
308 XHXIEHMSOIA 3,010,000 3,182,000 A 172,000
= 2,800,000
= 210,000
01 AIXSHMENMNEX= 3,010,000 3,182,000 A 172,000
OXHECXNGEXNEM AIY 3,010,000
= 2,800,000
& 210,000
g=el X2 3,600,000 5,500,000 1,900,000
=2 3,600,000




2N
X ZH -
L= B

el

SA B ER(EN) - AR - BES of & o4 San HIDZ2
308 At XM SO0I & 3,600,000 5,500,000 21,900,000
= 3,600,000
01 XM BaE2ES 3,600,000 5,500,000 21,900,000
Og=sg A=H 3,600,000
= 3,600,000
gsgEN dy22l 74,280 100,700 N 26,420
= 74,280
201 2Bt Y| 3,000 3,000 0
= 3,000
01 At 22l b 3,000 3,000 0
Ogsga=HM N& 3,000
= 3,000
202 O 4 2,000 2,000 0
= 2,000
01 SLHOYI 2,000 2,000 0
Ogsga=Hd 8XXE 2,000
= 2,000
308 XXM S0l ™ 69,280 95,700 N26,420
= 69,280
01 HXHHBAEES 69,280 95,700 N 26,420
OesgX=H 83yl 69,280
= 69,280
g€sYHEM N2 AL 270,000 270,000 0
308 XXM S0l ™ 270,000 270,000 0
01 HAHHMZAEES 270,000 270,000 0
OLsAXESM XA (XHA) 270,000
s+ s N 2,666,836 2,295,648 371,188
308 XXM SO0I™ 2,666,836 2,295,648 371,188
01 XM B EES 2,666,836 2,295,648 371,188
OsgEs s X2 2,666,836
H ESTUU XA AE 1,218,906 1,008,041 210,865
308 XXM SO0l & 1,218,906 1,008,041 210,865
01 XM BaE2ES 1,218,906 1,008,041 210,865
Ol SESXH XE A 1,218,906
ZXtel BANK £ Xl 432,000 432,000 0
403 TtXI M S A =01 A 432,000 432,000 0
01 TtXIEHH X2 2 & 432,000 432,000 0
OX=Xtel BANK & Xl 432,000
SHE F3H SEAMY 37,200 62,000 A 24,800
= 30,000




2N
X ZH -
L= B

el

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 7,200
308 XXM SO A 37,200 0 37,200
= 30,000
< 7,200
01 AXHHBLEES 37,200 0 37,200
OSgEEg JSH sdAMd 37,200
= 30,000
< 7,200
HAER0] MAET sS4 331,200 331,200 0
308 XX EHHSOIA 331,200 331,200 0
01 HXNHHBHELS 331,200 331,200 0
OHWSH0| MAuGT I4 331,200
FHAH 2SI 22 270,000 225,000 45,000
403 UHXSHHSA=0l& 270,000 225,000 45,000
01 HXHMA2LE X 270,000 225,000 45,000
OFAL B22AXD| 2= 270,000
BN 2E€A=0] N2AY 162,000 0 162,000
403 MtXISHHE X201 & 162,000 0 162,000
01 XM A=2E X 162,000 0 162,000
OgMN 245D XA 162,000
SIH LA 1,950,000 1,950,000 0
= 1,500,000
< 450,000
403 XIS E X201 & 1,950,000 1,950,000 0
= 1,500,000
< 450,000
01 X SHHA2E = 1,950,000 1,950,000 0
OsIIA AL 1,950,000
= 1,500,000
< 450,000
2= JdUE sIIH NEAMG 600,000 900,000 300,000
403 MHXSHHSA=0l& 600,000 900,000 A.300,000
01 XM= E L 600,000 900,000 300,000
OEx= gUE sIIAH XA 600,000
A=A ZH SSAY 300,000 300,000 0
403 MtXISHH S0l & 300,000 300,000 0
01 XM A2E X 300,000 300,000 0
O&sJIHs &H S=AE 300,000
HolSEMNSSZIALNI S=SAY 383,600 432,000 A 48,400
403 MtXISHHE X201 E 383,600 432,000 248,400




2N
X ZH -
L= B

el

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

01 AXSHMA=2EE 383,600 432,000 A 48,400

OgoisLdHSS2ALMI SSAME 383,600
sHY e MHAHEH 29X 90,000 0 90,000
308 XtXIEHHSOIA 90,000 0 90,000
01 AXHHILEES 90,000 0 90,000

O=s&g e MUlAdEH 2SR 90,000
sJIH S8 N& 80,000 0 80,000
308 AHAIEHHSOIA 80,000 0 80,000
01 HXNHHNBHELS 80,000 0 80,000

OsJIH s&28 X 80,000
s&=2 MHol2& X3 A 475,236 176,600 298,636
308 XX EHSOIA 475,236 176,600 298,636
01 HIXNHHBNEES 475,236 176,600 298,636

O=szE Mol2& XNJAY 475,236
L2 EHE SHAY 450,000 900,000 A 450,000

J| 300,000

< 150,000
403 MtXISHE X201 H 450,000 900,000 A 450,000

J| 300,000

< 150,000
01 X SHHN2E = 450,000 900,000 A450,000

OgXzE BdHE SHAS 450,000

J| 300,000

= 150,000
eEHS MACT] ZHALE 80,000 300,000 220,000
403 A X EHHSH=0IA 80,000 300,000 220,000
01 X EHHMA=E L 80,000 300,000 A 220,000

OELAS MACI ZAAY 80,000
SHY HHALE FHl XA 60,000 0 60,000
308 XX EHSOIA 60,000 0 60,000
01 HIXNHHNBHNEES 60,000 0 60,000

OsHY HEAMS ZH XFAE 60,000
AEHP=E Ml sHEZX B3 14,400 5,760 8,640
308 XXM SO A 14,400 5,760 8,640
01 X HHILEES 14,400 5,760 8,640

OudAs Ml sPHEEXN ES 14,400
AAMYs dIAUE EFIHXH 40,000 0 40,000
307 21201 A 40,000 0 40,000
04 BIZtHAIE XS 40,000 0 40,000




SN ST @D

HE: 59 B L
ol MRS SY (29 & 9)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OxdYs d=Us XA 40,000
SefdAs disPR A2 15,000 0 15,000
301 et a3z 15,000 0 15,000
06 212tQ1= 2| 0 Hi 15,000 0 15,000
OR+2TAs HAsHR A 15,000
Rl 2F MY X ALY 9,000 0 9,000
403 A X EHHSH=0IA 9,000 0 9,000
01 X EHHMA=2LE L 9,000 0 9,000
Ondt AZ Rl 2HIML XA 9,000
H SR &X NIAMY 40,000 0 40,000
403 X SHHSA=0l& 40,000 0 40,000
01 HXSHMA2E X 40,000 0 40,000
OS48 H =% 44X NI AMZ 40,000
sIH 22 20 NN (EF) 25,000 0 25,000
403 MHXISHHE X201 E 25,000 0 25,000
01 AXSHMA=2EE 25,000 0 25,000
OSd &die sJAHAE2ED NA(ES) 25,000
3 o438 NEAY 10,000 0 10,000
403 XIS E X201 & 10,000 0 10,000
01 AXSHMA2E = 10,000 0 10,000
O=2d 34 sdcl 2 o433 NEAMZ 10,000
SHE 23 14,200 14,200 0
201 ¢er24| 13,000 13,000 0
01 At 22/l 13,000 13,000 0
OBt & ==ZH 13,000
203 YR =&t 1,200 1,200 0
03 A Z=XH S =AY 1,200 1,200 0
Os&X3AM =& 1,200
dEdsgsd 35,858,422 27,561,176 8,297,246
= 17,604,415
& 2,606,000
J| 3,120,000
< 12,528,007
HEdsgy AFZIN2AM 849,000 1,442,000 A 593,000
= 849,000
308 XtXIEHH SOl A 849,000 1,442,000 A 593,000
= 849,000
01 AXHHILEES 849,000 1,442,000 A 593,000
Oozazdsgy AEX=H 849,000




AN s&XAB
HE: 59 B L
ool AEIsYSH (29l & 2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| = 849,000
29 EFsHHI =4 4,136,000 5,170,000 A 1,034,000
2 2,256,000
< 1,880,000
403 XSS =0l & 4,136,000 5,170,000 A 1,034,000
& 2,256,000
< 1,880,000
01 XM A=2EE 4,136,000 5,170,000 A 1,034,000
OoZdzlgdsg=il =4 4,136,000
= 2,256,000
< 1,880,000
WEY sYNT =4 641,667 275,000 366,667
2 350,000
< 291,667
403 XIS E X201 & 641,667 275,000 366,667
& 350,000
< 291,667
01 X SHHAN2E= 641,667 275,000 366,667
Oz &d sgil+ =4 641,667
& 350,000
= 291,667
=sHI&E=E SAU KNSAS 380,947 750,540 A 369,593
= 234,429
< 146,518
308 At EHHSOIA 380,947 750,540 A 369,593
= 234,429
< 146,518
01 HIXNHHNBMNEES 380,947 750,540 A 369,593
OsHIAE SXHU XE A 380,947
= 234,429
< 146,518
EUMSH BFAY 4,803,698 4,129,786 673,912
=2 3,955,986
< 847,712
308 XXM SOl A 4,803,698 4,129,786 673,912
= 3,955,986
< 847,712
01 IXNHHMBNEES 4,803,698 4,129,786 673,912
OELMHEH E2XAY 4,803,698
= 3,955,986
< 847,712
SIIYE XA 10,470,000 9,000,000 1,470,000
= 10,470,000
308 XtXIEHH SOl A 10,470,000 9,000,000 1,470,000
= 10,470,000




2N
X ZH -
L= B

el

-
o

=]

O Of
oI rx
N
bal

(OS]
o
it

0

y
0x 0y

tol

= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
01 IXNHHBANEES 10,470,000 9,000,000 1,470,000
ORJIIEHEZE XNEAL 10,470,000
= 10,470,000
ZIEZEIH MAANL SHSAIS 156,000 0 156,000
J| 120,000
= 36,000
403 XIS E X201 & 156,000 0 156,000
| 120,000
< 36,000
01 X SHHX2E = 156,000 0 156,000
OTIEAEH MAALE SUHIAS 156,000
| 120,000
< 36,000
detBs AN K23 ALS 137,750 0 137,750
= 95,000
= 42,750
308 XXM SO0 A 137,750 0 137,750
= 95,000
< 42,750
01 HIXNHHBNEES 137,750 0 137,750
OB sAM XA 137,750
= 95,000
= 42,750
== JIEtx=E ALY 861,000 997,200 A 136,200
308 XXIEHHSOIA 252,000 294,000 A 42,000
01 IXNHHBNEES 252,000 294,000 A 42,000
Ozad d=std M= XNEAY 252,000
403 Ut S E X201 & 609,000 703,200 A 94,200
01 X HMA=2LE X 609,000 703,200 A 94,200
7lls E35S SEAY 252,000
FllsgHX ZHAS 252,000
ORI =MEI0tE =4AS 105,000
TEAsLE QSELSAMN 300,000 413,700 A 113,700
308 XXM SO0 300,000 413,700 A 113,700
01 AXNSHBLAEES 300,000 413,700 A 113,700
OzIsezs ASEELHSAY 300,000
et sitE UAESsIt SEAY 180,000 135,000 45,000
308 XXM S0 A 180,000 135,000 45,000
01 HIXNHHBNEES 180,000 135,000 45,000
OZdAsdts AE5sIt SFEAY 180,000
Rll=sg M2 =X 22AY 9,360 8,000 1,360
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2N
X ZH -
L= B

el

-
o
B

O Of
e =
o
Ot g
o

tol

I
0x 0y

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 2,000,000
< 6,000,000
306 £ 3 8,000,000 0 8,000,000
= 2,000,000
< 6,000,000
01 &3 8,000,000 0 8,000,000
02015 WAMNARI s HAMAL I X 8,000,000
= 2,000,000
< 6,000,000
NASI I ssgAdAZ S22 2 20,000 0 20,000
201 Let24d] 20,000 0 20,000
03 A2 S HI 20,000 0 20,000
ONAKRIIsstgAAE EE2 29 20,000
MAH S| = &b A A T 12,200 1,616,200 A 1,604,000
202 O4dl 7,200 7,200 0
01 = LH 4 4l 7,200 7,200 0
ONAKRIIstHA AT ERAHZZ 7,200
203 YR =&l 5,000 0 5,000
03 A BFXH S =AY 5,000 0 5,000
ONARIIsttHAM AL =& 5,000
OFAIOF RIl==sg 2l Wzl X3 50,000 0 50,000
308 XtXIEHHSOIA 50,000 0 50,000
01 AXHHILEES 50,000 0 50,000
OOtAIOF RIl==gHal =l XI& 50,000
sHMADBEE S 19,906,652 23,478,250 A 3,571,598
= 7,483,402
& 9,679,000
< 2,744,250
BH == JH & AL 5,930,000 9,271,000 A 3,341,000
= 5,930,000
402 QI2H X201 M 2,930,000 9,271,000 26,341,000
= 2,930,000
01 BIZEAt =22 X 2,930,000 9,271,000 26,341,000
O==IH& ALY XI& 2,930,000
= 2,930,000
403 MHXISHHE A0l & 3,000,000 0 3,000,000
= 3,000,000
01 AXSHMA=2EE 3,000,000 0 3,000,000
Oti==H&8 At XI& 3,000,000
= 3,000,000
NE=S22HLAY 1,240,000 800,000 440,000
& 1,240,000

«©




SN ST @D

HE: 59 B L
ol Sl M A B E A (S5 &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

403 MtXISHHE =01 & 1,240,000 800,000 440,000
& 1,240,000

01 XM A=2E X 1,240,000 800,000 440,000
ONE=SBZHEAE XA 1,240,000
= 1,240,000

SHEUHIE =2 ALY 1,226,250 1,226,250 0
= 1,090,000
< 136,250

403 XIS S X201 & 1,226,250 1,226,250 0
= 1,090,000
< 136,250

01 XXM 22 = 1,226,250 1,226,250 0
OstLHHI S+ At 1,226,250
2 1,090,000
= 136,250

&It ALY 5,152,500 5,023,500 129,000
& 4,580,000
= 572,500

403 MHXSHHSA=0l& 5,152,500 5,023,500 129,000
2 4,580,000
< 572,500

01 HXSHMA=2LE X 5,152,500 5,023,500 129,000
OEIIEHEHI ALY 5,152,500
2 4,580,000
< 572,500

HREARNF 2 A 4,341,500 5,845,500 1,504,000
2 3,859,000
< 482,500

403 RXISH S X =0l & 4,341,500 5,845,500 A 1,504,000
2 3,859,000
< 482,500

01 XM A=2EE 4,341,500 5,845,500 A 1,504,000
OUTHAXH2IAY 4,341,500
2 3,859,000
< 482,500

Mol 218 M=Kl EHIAL 585,000 0 585,000
= 450,000
< 135,000

403 A X EHHSXH=0l A 585,000 0 585,000
= 450,000
= 135,000

01 X EHHMA=LE L 585,000 0 585,000
OMoH?E M==X HHIAS 585,000
= 450,000
< 135,000




EAREE==RA AR

B =9 M L
el S oM AR A GEERED
SA - BB B () - MM - BES Ol &t o San HmEET
Y =FMa 2ehe XA 13,402 0 13,402
= 13,402
308 XX EHHSOIA 13,402 0 13,402
- 13,402
01 HIXNHHBNEES 13,402 0 13,402
OfRIY= e 2L XA 13,402
= 13,402
A2l AEFH AL 1,100,000 1,100,000 0
403 MRS E X201 & 1,100,000 1,100,000 0
01 XM A=2EE 1,100,000 1,100,000 0
OLna2=c/AIEZH M 1,100,000
SHUE -2 XM 310,000 212,000 98,000
403 A X EHHS =0l A 310,000 212,000 98,000
TAXEH A= X 310,000 212,000 98,000
OFF 223 E=2 FHAY 60,000
O 2o 32 =2 FHIAY 25,000
O3 Hds =2 UM 20,000
Ogs 2 Wsel 2FEMLAE 50,000
OZs && XN&Eel 2 FHIAMgY 20,000
OMA &8 sdtel 2 FHIAMY 40,000
OHM& #g 28 8+ MY 25,000
ONMdE NS E=2 ZFHIAES 40,000
O &5 g4l 2+2 FHAY 20,000
OF& 29 Ade 2EMLAY 10,000
SOMATIBAIE A2 8,000 0 8,000
202 Odl 8,000 0 8,000
01 = LH 4 bl 8,000 0 8,000
O=HMADIEHAIE At 2tel 8,000
2L (sLXJA D) 55,020 59,661 A4, 641
pICER] 55,020 59,661 A4,641
Jl2ztl 55,020 59,661 A4,641
201 YEr2 Y| 17,220 18,081 A 861
01 At 2teltl 17,220 18,081 A 861
OJle=+=&Hl 7,240
OJlEs &l 9,980
202 odl 37,800 41,580 A 3,780
01 SLHOIYI 37,800 41,580 A 3,780
OJl=0tl 37,800




